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Fras di numeri con decimali Nome:
Determina quale dellefrasi évera. Risposte
1) A 123>132 2) A. 0,34=043 3) A. 458=4_85
B. 1,27=1,72 B. 3,04<3,40 B. 0,69 > 0,96 1
C. 6=60 C. 037>073 C. 015>051
D. 145=154 D. 1,87<178 D. 06,9> 6,09
2.
3.
4) A. 467=4,76 5 A. 247=274 6) A. 4,76<4,67 4
B. 647<6,74 B. 2,34>243 B. 5,89 > 5,98 '
C. 2,73<237 C. 427<4,72 C. 8,95>8,59
D. 0,59 > 0,95 D. 3,95< 3,59 D. 3,86< 3,68 5.
6.
7) A. 3,80>3,08 8) A. 0,46>0,64 9 A. 0,19=0,91 7.
B. 2,67=2,76 B. 3,85< 3,58 B. 1,28=1,82
C. 0,38=0,83 C. 251>215 C. 90=9 8.
D. 237>273 D. 1,25=152 D. 268>286
9.
10.
10) A. 1,06<1,60 11) A. 6=6,00 12) A. 2,83<2,38
B. 0,53<0,35 B. 0,12>0,21 B. 5,79>5,97 1
C. 0,16=0,61 C. 057>0,75 C. 253<2,35 '
D. 1,28>1,82 D. 0,87<0,78 D. 3,82> 3,28
12.
13.
13) A. 2,58=2,85 14) A. 3,78=3,87 15) A. 2,95<259
B. 4,59>4,95 B. 7,38<7,83 B. 529<592 14,
C. 4=400 C. 0,79>0,97 C. 258>285
D. 245> 254 D. 0,53<0,35 D. 0,25=0,52 15.
16.
16) A. 0,87<0,78 17) A. 200=2 18) A. 8,93>8,39 17.
B. 5,38<5,83 B. 5,68 =5,86 B. 0,19>0,91
C. 3,85<3,58 C. 0,58>0,85 C. 046=0,64 18,
D. 3,89> 3,98 D. 0,47>0,74 D. 3,98< 3,89
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Frasi di numeri con decimali Nome: Soluzioni
Determina quale dellefrasi évera. Risposte
1) A 1,23>132 2) A. 034=043 3) A. 458=485
B. 1,27=1,72 B. 3,04<3,40 B. 0,69 > 0,96 1 C
C. 6=6,0 C. 0,37>0,73 C. 0,15>0,51
D. 145=154 D. 1,87<1,78 D. 06,9> 6,09 B
2,
3 D
4) A. 467=4,76 5 A. 247=274 6) A. 4,76<4,67 4 B
B. 647<6,74 B. 2,34>243 B. 5,89 > 5,98 —
C. 2,73<237 C. 427<4,72 C. 8,95>8,59
D. 0,59 > 0,95 D. 3,95< 3,59 D. 3,86< 3,68 5. C
6. C
7) A. 3,80>3,08 8) A. 0,46>0,64 9 A. 0,19=0,91 7. L
B. 2,67=2,76 B. 3,85< 3,58 B. 1,28=1,82
C. 0,38=0,83 C. 251>215 C. 90=9 g C
D. 237>2,73 D. 1,25=1,52 D. 2,68> 286
o C
0. A
10) A. 1,06<1,60 11) A. 6=6,00 12) A. 2,83<2,38
B. 0,53<0,35 B. 0,12>0,21 B. 5,79>5,97 1 A
C. 0,16=0,61 C. 057>0,75 C. 253<2,35 —
D. 1,28>1,82 D. 0,87<0,78 D. 3,82> 3,28
12. D
13, C
13) A. 2,58=2,85 14) A. 3,78=3,87 15) A. 2,95<259 B
B. 4,59>4,95 B. 7,38<7,83 B. 529<592 “/_ B
C. 4=400 C. 0,79>0,97 C. 258>285
D. 245> 254 D. 0,53<0,35 D. 0,25=0,52 15. B
16, B
16) A. 0,87<0,78 17) A. 2,00=2 18) A. 893>8,39 7. A
B. 5,38<5,83 B. 5,68 =5,86 B. 0,19>0,91
C. 3,85<3,58 C. 0,58>0,85 C. 046=0,64 18, A
D. 3,89> 3,98 D. 0,47>0,74 D. 3,98< 3,89
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